Section 2.3
H omework Set T Cpg 45)

Preblem | Lre-qu-i-e, PM 5B, Pgs 6|~ bq)
(2) By folding an isosceles 'h';ahﬁ-lc in hatf (thetis, aleng its line o
5ymme_+,ry) , we see that The twe base ans,lcs match .

(b) Preb2 (pg e4) illustrates the fact thet ™ i a triangle has fwo
e,c'/ml Qnﬁ.ies) Then H‘ IS an isos-celes ﬁiavig:i_e__

(¢) Preb3: Triamalcs B and (;, are 1sosceles ‘l’rir,mﬂles_
(15%,75° 30°)
Preb 4@ Triangles P and Q arve eti,uila-l'e,mi triangles.
(d) Preb 5. ZBAC = oo Sotwer fact” used: £ sum of A
Prob 61 £ PRS = 130°  Sother fact"vsed: ext L of A
Preb 7! £ ABC = 757  Tofher fact " used 1 vert Ls

(e) Prob ®: @& =130, b= 4e®, c= 120, d=30, e-= oy

Problem 22 A ZABC = 50 vart, L8
ZBALC = e base Ls of iscs A
_ X 4+ X + 50 = 180 Z sumef A
C
2% = {320
O = 65
Alternahve solubiont
A Mark m\%.‘e y «s shown
y 4+ 50 = |80 /s on a line
2BAC = %x° s L5 ok 1558 A
X+ X =Y ext £ ot &
2% = |30



Preblem 3
Mark amﬁle X as shown

q:b:c:d:e, (d.t‘\f&ln

a.+b+e+d+e 360 Z.So:i-'a'am‘n'f'

d4d+d+d+d = 360
5d = 3¢&0
. d =2 A
y = & base Zs of 1sos A
x +y td =18 £ sum of A
y +y+'73-f-i8i>
2y =108
i y=51+

By tThe same re.aSam'mﬂ. \

each base c‘unﬁ.l& of each of The 5 isosceles ‘i‘riahﬂles is 54°

oz o= 2(s4) = (08

Problem 5  (refers to NEM 4 Sec 10.3, pgs 268-270)

Prebi: (& X =62 (b) X = U5 (¢) x = 180 - 60 = 120
(d) X+ x + 68 = |80 (e) 58 + 58 + X =180
22X = Ha 16 + X = 180
Xx=56 CoX = 64

(£) 60 = X + X ext £ of A

Preba: (@) Mark angles y as chowin  base £s of (sos A
ax = X+ Y ext £ of A
o y = 2X
Ix +y = |80 < on a line
3x 4+ 2x = 180
5x = 180 .. X =36
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(b)

Mark am%les y as shewin

base Zs ¢f 1scs O
Mark am&le 2z as shown

Zz =2X base £s cf isos A
7=1x+z ext £ of A

7: 2% + 2X

y:l-i'x

X+y+y=l30 L sumof A

x +ux +4x =180

qx =

|80

-

. X = 20

Prob 31 RECALL all radiv in a circle have the same len%ﬁr\
Q) x + 2X + 2x = |80 (b g2 + x + x = 180

5x = |80 2x =138

oy = 36 X & @q

(=)

Mark an%la y as shown

x+y = 90 Z sumof rt A
y = 2X base Z< of sos A
X + 2X =90
3X =40
MoXx = 30

Mark m’\gies y as shewn

bace <5 of isos A
Mar K angle Z ac shown

g= 90—y L sum of rt A
X = 90 — Y Z sum of rt A
==z

Zs en a line
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Mark m«gles w and y as wbcrian
base £¢ of 1s0e A

Mark amﬁle,s 2z as shown

(4)
w= X base 4£s of isoc A
¥ = X base £¢< of Ises A
2 = X +W ext <« of A
z= X+X
2 22X
x+y+z+x-180 Z sum of A (AABC)
Lcmd ésc\dd)
¥ + X + 2% 4+ X = I8¢
5x = |80
 x = 36

Preblew € (refers o NeM ‘.'Lj Secs |-l and 1.2, pgs 2‘10--—;16]9)

(a) Draw all the lines of symmetry for each of them where possible.
(b) Mark with a cross (x) the centre of rotational symmetry where possi-

Prob 4
Cpg 297) ble.
; L

(i)
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____(X) :

.I-_
Preblem 7
Pt‘ob 6 (NEM i} Pﬁ, 1‘38) geve_ra‘ QV\SW&"S are POSSI‘b[&

(&) rotational Symme,tr\/ ot order 8 dor ex
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